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ICTALT
FINAL TEST OPEN BOOK NO LAP-TOP (100 menit)
Name: SUMARN), §-pd Student ID #: 12801201

You do not need any extra paper, write down all your answers right here ! Use the back page if necessary.

1. Why should we learn about ICT (10 points):

We ¢hould learn apput IcT becavse by learning  the ICT,

We Can Cowmwmuwicate 4o 4\ people around the world. In
rhic case, learming  About 1CT 15 used not only Kor

communicating to other people but also we Can  get
many Ingormations by using techvology -

The Wmeormation can be about article that written
by other People , eleckronic book (e-book ), 4alse we
can Share  Of Give wiormayionn 1o Other people ,

o that, W this case the 1C7 ¥ an wmportant ool

3 List 6 (six) examples of the teaching format (5 points): _
Talkandchalk Examination Group ciscussion

Likeracy Circle PreSentation of waderial | Master - Aprentice
4. List 6 (six) aspects to support the teaching skills (5 points):
Experience _ technigue | Metiodology
Kwow ledgé€ ity \e talent

5. In one of your group assigments, your group has made a visit to an ICT facility for education (70

points): *
(a) Name the ICT facility your group has visited: 1C T Centre U NM  Guavng Sari MakAassar

b) List 2 (two) examples of hardware, software and humanware aspects at the ICT Facility:

hardware aspects software aspects Humanware aspects
Verboard | Linux  |Computer Operators

Printers | Moodle Computey Programmers .

6. Your group has interviewed a practicing teacher to make an assessment on her/his mastery in ICT

and how he/she uses the ICT to support hi’z(her job (70 points):
() The teacher's name: Dr¢. Rugsli » M-p place of work: UNM1. Gunung  S4r)

(b) His/her mastery of ICT is (circle only one answer).
* Extra Ordinary é Goo§ y  *Not Quite Good

(c) Explanation of 6(b):

HiS wmadtery o 1CT 16 gmdr beCavse He C‘an SUPPOHI  eation
AdVW]hﬂTStrdfTOﬂ ok '|n(-0rmat70|/\ i CoMWAWA vatcation and telecow

W Yniver Gty and acadewmic eumctional. He can provid ¢ ]
the facility 7o upport  the education activity, researchh an

3 Campus.
develop tThe systew A " F

(use the back page if necessary/
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7. A society where the majority of its population earn their living as information workers is called an

Ingormation S0Ciety  society (5 points). What do Information workers do for living? (70
points) Answer. They _are detting , prodveing , Processing and distributing

the WmEormation  that they got from other people 4o the
Oother Pecfi\e -

Examples of information workers are (give three more): Teachers, _hewspapel , Magazin<s
reporters, Scientist$ , and  also  Can be  computer PpProgrammers.

8. There are 3 (three) levels of Information Systems, from the lowest to the highest (70 points):

1. Manval - based Information Systems
2. Cowmputey - based Information Systems, and
3. HMegwork of Line - based Information Systems

8. What mode of communication did Shannon and Weaver's model of communication
originally represent? Answer, _Simp\e  Mode mode. 2 (two) other modes of
communication derived from the same model are: (a) ¥ull Duplex
and (b) Hal§  Duplex (10 points)

9. The smallest unit of information is 1 Bit stands For (an abrreviation of)
Pinary 4digqi4 ? (5 points)

10. Create 16 (sixteen) different “4-bit binary codes” to identify 16 different persons (70
points):

1 000 : 0100 ‘M: 110O

F: | 00 | J 010\ N i1lol
G: 10 | 0 K 9\\g  |o: 110 |
D: Ol 1| H: 10 1\ L ooovt  IP1111

11. Write down your answers below, or use the back page if necessary:

(3) If each letter or character is coded into a 10 bit binary code of information, every word is made
up from 5 letters in average, and the content of every page is about 500 words in average, how
many bits of information are there contained in a 250-page book? (5 point).

(b) How many books about the same size as described in 11(a) can Fill up an 8 GB Flash Disk? (Note: 1

B(yte) = 10 b(its), so 8 GB = 80 Gb)(5 point).

Answer.

11.(@) 250 pages
XS letter
AC00 werds

626.000 * 10 bt = G- 250 » 000 bit - »
0 - .
(b) Flash disk Capacit? : o cp = 80 6b —7 6000

: / e.‘LS': 15 900
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